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There are S red and 5 black balls in a bag. Four balls
are taken at random. Find the probability that all are

" black balls.
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B. Com. (Part IT) EXAMINATION, 2020

(Group—III : Compulsory Paper)
Paper First
BUSINESS STATISTICS
Time : Three Hours

Maximum Marks : 75
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TP —1
(UNIT—1)

i, a‘fwﬁ%wmlmﬁﬁmzﬁwmaﬁ
Al @1 vl HRm |

Discuss the types of data. Explain the methods of
collecting primary data, '

(A-66) P. T. O.
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Srqar N (UNIT—2)
a (0r) | ) e wiet @ Ry AR A Aiae § A
ﬁﬂﬁﬁ.ﬁuﬁﬁmqﬁmaﬁwm; e 2
3% (3 i) RerRRy @ wer Fe e 7 2
0 240 | |
10 215 - ; i ;
20 ‘ o L 40 5
30 180 45 8
40 165 50 6
0 145 o 2
60 115 Calculate mean deviation from arithmetic mean and
70 50 median for the following data :
£ 0 : Mid Value . Frequency
Calculate median and mean from the following series : : 5 o T 2
Marks (More than) No. of Students 40 5
° i | e 45 8
e i ' | 50 6
gl 30 55 4
30 180 ‘
49 165 i
50 145 _ (Or)
60 s arffad aifest ¥ drel R @1 fawE e qwd
g0t ¢ 50 55 P :
80 : 0
(A-66) P. T. O.
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36—40 : 42
4145 15
46—50 12
51255 3

Calculate Karl Pearson’s coefficient of skewness from the
following data : ;
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X mu N, !

58 ' 11
43 27
41 31
39 42
43 30
46 28
43 28
45 20
41 19
47 20
45 32
44 30

Calculate Karl Pearson’s correlation coefficient between
Xand Y :

-Class Frequency
21—25 5
26—30 _ - 15
31—35 28
36—40 42
41—45 15
46—50 ' 12
51—55 3
FIE—3
(UNIT—3)
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Explain the concept of regression. Why are there two
regression lines ? Distinguish between regression and
correlation.

(A-66)

X Y
58 11
43 27
4] , O
39 42
43 30
46 28
43 : 28
(A-66) P. T. O.
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45 20
41 19
47 20
Mg 32
44 30
THE—4
- = “(UNIT—4)
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Define Index Number. Write the characteristics of Index
Numbers. Explain the problems in the construction of
Index Numbers. o

e

: (Or)
Frefifee aifeel § fFeR @1 Edie A @R T
fremgy R 78 WG SoprITT TV BT QX BN T A
El

R 9§ e,
a'\fﬁ HAT GIE
z ®)
O @m | O @m)
a 30 40 2,000 50
q oo 20 1,050 | = 35
o 54 15 1,320 55
@ 20 40 2,340 45
g 15 30 630 15
(A-66)
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Compute Fisher’s Index and show how it satisfies time
reversal test from the data given below :

Base Year Current Year
Commodity | Price | Quantity | Price | Qua ntity
(93 (kg) ® (kg)
A 30 40 2,000 50
B 22 20 1,050 35
C 54 15 1,320 55
D 20 40 2340 | 45
E 15 30 630 15
PS5
(UNIT—5)
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Explain the concept of Business Forecasting. Discuss the
utility of business forecasting.
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From a pack of 52 cards, two are drawn at random.
Find the probability that both are spade.

(A-66) P. T. O.



